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QUESTION 1

Which of the following refers to any system whereby things that are of value to an entity or group are monitored and
maintained? 

A. Asset management 

B. Investment management 

C. Service management 

D. Product management 

Correct Answer: A 

Asset management deals with the management of assets of an organization. An asset is defined as an item of value. It
is essential for a company to identify, track, classify, and assign ownership for the most important assets. The main idea
behind asset management is to ensure that the assets are protected. 

 

QUESTION 2

A user can divide network traffic into which of the following classes of service? Each correct answer represents a
complete solution. Choose three. 

A. Video payload 

B. Voice and video payload 

C. Voice payload 

D. Voice and video signal traffic 

Correct Answer: ACD 

A user can divide network traffic into the following three classes of service: 

Voice payload: Voice calls are a major part of network traffic, so a network traffic is mainly divided in this class. 

Video payload: Video traffic has variable packet rates and slightly variable bit rates, so this class is used to separate the
video traffic. 

Voice and video signal traffic: This traffic is treated as a data application in QoS. In this class, protocols are used to
tolerate jitter and delay. 

Answer option B is incorrect. It is not a valid option. 

 

QUESTION 3

Which of the following statements are true about Mean Time to Repair (MTTR)? Each correct answer represents a
complete solution. Choose three. 
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A. It is the total corrective maintenance time divided by the total number of corrective maintenance actions during a
given period of time. 

B. It is the average time taken to repair a Configuration Item or IT Service after a failure. 

C. It represents the average time required to repair a failed component or device. 

D. It includes lead time for parts not readily available or other Administrative or Logistic Downtime (ALDT). 

Correct Answer: ABC 

Mean Time to Repair (MTTR) is the average time taken to repair a Configuration Item or IT Service after a failure. It
represents the average time required to repair a failed component or device. Expressed mathematically, it is the total
corrective maintenance time divided by the total number of corrective maintenance actions during a given period of time.
It generally does not include lead time for parts not readily available or other Administrative or Logistic Downtime
(ALDT). 

MTTR is often part of a maintenance contract, where a system whose MTTR is 24 hours is generally more valuable than
for one of 7 days if mean time between failures is equal, because its Operational Availability is higher. MTTR is every
now and then incorrectly used to mean Mean Time to Restore Service. 

 

QUESTION 4

Which of the following types of Incident Response Teams (IRT) is responsible for a logical or physical segment of the
infrastructure, usually of a large organization or one that is geographically dispersed? 

A. Distributed IRT 

B. Outsourced IRT 

C. Coordinating IRT 

D. Central IRT 

Correct Answer: A 

The various types of Incident Response Team (IRT) are as follows: 

Central IRT: It handles all incidents for the organization, usually either a small organization or one that is centrally
located. 

Distributed IRT: It is responsible for a logical or physical segment of the infrastructure, usually of a large organization or
one that is geographically dispersed. 

Coordinating IRT: It is a combination of central IRT and distributed IRT. Generally, the central team provides guidance
to distributed IRTs, develops policies and standards, etc. The distributed team manages and implements incident
response. 

Outsourced IRT: It states that the successful IRTs are comprised of the employees of the same organization, or may be
fully or partially outsourced. 

 

QUESTION 5
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Which of the following concepts are included in the security of a SAN? Each correct answer represents a complete
solution. Choose all that apply. 

A. Host adapter-based security 

B. Storage-controller mapping 

C. Switch zoning 

D. IDS implementation 

Correct Answer: ABC 

Storage area network (SAN) is a dedicated network that provides access to a consolidated, block level data storage.
The security of SAN is completely dependent upon the users authentication or authorization. SAN security includes the
following concepts: 

Host adapter-based security: Security measures for the Fibre Channel host bus adapter can be implemented at the
driver level. 

Switch zoning: Switch zoning is used in a switch-based Fibre Channel SAN. It refers to the masking of all nodes
connected to the switch. 

Storage-controller mapping: By mapping all host adapters against LUNs in the storage system, some storage sub-
systems accomplish LUN masking in their storage. 

Answer option D is incorrect, IDS is not implemented for the security of a SAN. 

CA1-001 VCE Dumps CA1-001 Practice Test CA1-001 Braindumps

CA1-001 VCE Dumps | CA1-001 Practice Test | CA1-001 Braindumps                                4 / 5

https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html


https://www.pass4lead.com/CA1-001.html
2022 Latest pass4lead CA1-001 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4lead.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4lead, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

CA1-001 VCE Dumps | CA1-001 Practice Test | CA1-001 Braindumps                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html
https://www.pass4lead.com/CA1-001.html

